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General Instructions :
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(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question numbers 1 — 4 and 13 — 16 are very short-answer questions carrying

1 mark each. They are required to be answered in one sentence each.

Question numbers 5 — 6 and 17 — 18 are short-answer questions carrying 3 marks

each. Answers to them should normally not exceed 60 words each.

Question numbers 7 — 9 and 19 — 21 are also short-answer questions carrying

4 marks each. Answers to them should normally not exceed 70 words each.

Question numbers 10 — 12 and 22 — 24 are long-answer questions carrying 6 marks

each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.
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SECTION - A
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(a)
(b)
(c)
(d)

A TRl AT
HTd AT

3d A AT
37 feor v

Which of the following cost decreases continuously with increase in production ?
(Choose the correct alternative)

(a)
(b)
(c)
(d)

Total Variable Cost
Marginal Cost

Average Total Cost
Average Fixed Cost

ITE GHTEAT 95k o1 Slie1 A Radehte 1 exrian @ 7

What does a rightward shift of production possibility curve indicate ?

T B UH IR U foramsfiet & Sref & it Hmd o awg <t ferat oft mm S=ht S wendt
B | AW-IY T8 IEq I 3Aeres wr e Fived qou W st ], Hiia genty (3mm) 31
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(a)
(b)
(©)
(d)

3d AT > Higid
3 AT = FHiid Sy
3 AT < Higid Sy
I W | g o T

A firm is operating in a market where it can sell any quantity of a commodity at a
given price. As more units of the commodity are sold, the relation between marginal
revenue (MR) and average revenue (AR) is : (Choose the correct alternative)

(a)
(b)
(c)
(d)

Average Revenue > Marginal Revenue (AR > MR)
Average Revenue = Marginal Revenue (AR = MR)
Average Revenue < Marginal Revenue (AR < MR)

None of the above
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Define marginal product.

5. IS dH YR Sa1sC 7 W IeTe HHTEET 9 SUTRA 2 | 3
YT
AT 3TTH ARTA ! TRATT ST | Toh H&ATeHeh IQTaXUT 31 HRTd § 6 STTURUM i
Herd o TSy |
State any three assumptions on which a production possibility curve is based.

OR

Define marginal opportunity cost. Discuss briefly the concept with the help of a

numerical example.

6. SIS Wi & 91 AT 2 ? SR /i H ‘Fhg” S a1l HIE & R FaTsy | 3

What is market demand ? State any two factors causing “increase” in market demand.

7. U 3cUCeh UG o I8 T W HqeH H hadlldl & fd W Higiq anra i mm
(T % FHE B | T ? FT Fe GHREd i g HHId ARTd 3R HE ST §
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A producer is said to be in equilibrium at that level of output at which marginal cost
is equal to marginal revenue. Why ? Is equality between marginal cost and marginal

revenue sufficient to ensure equilibrium ? Explain.

8. g X sl 5 wfcwra shima fire & 3weht @i 10 vl sgdt 8 | @%q Y 6t 20 Sl i
g W 3IFh! T 10 Tawrd vt 8 | g% X I I Y Y hHd Wi A H1 qieheH
FHIRTT | X 3R Y | § H ©i 9% AT dresiial g 7 4

A 5% fall in the price of Good X, leads to a 10% rise in its quantity demanded.
A 20% rise in price of Good Y, leads to a 10% fall in its quantity demanded.
Calculate the price elasticities of demand of the two goods. Out of the two Goods
which one is more elastic ?
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Why are firms interdependent in taking price and output decisions under Oligopoly ?
Explain.

OR
Why is a firm under perfect competition a price taker and a price maker under

monopoly ? Explain.

Heqehifereh 3T Crelehifores IcTed ®otl 8 T 3 & ? 3TcUshliclsh 3cdTed Held <
Tarfir=r =or Himid IeaTe o STYR W od1sy | [T ki ST <hIfST |

What is the difference between short run and long run functions ? State the different
phases of the short run production function on the basis of marginal product. Use

diagram.

A EH TIETrRRI % ToTe S T 10 % WIH |

For blind candidates in lieu of Q. No. 10 only

Heqh1feTeh 3R Erelehiioren IcqTeT Bl & o9 91 3T & ? 3TcUshlicteh 3cdTed %eld
Tarfir=r =or HiHTd IedTe o STTYR W Id18Y | dTfetshT shT ST ShifTT |

What is the difference between short run and long run production functions ? State
the different phases of the short run production function on the basis of marginal

product. Use a schedule.
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Explain the meaning of excess demand with the help of a diagram. Discuss its effect

on the equilibrium price.

A E TIETTRRI % ToTe 39 T 11 % WH |
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Note : The following question is for the BLIND CANDIDATES only in lieu of
Q. No. 11.
Explain the meaning of excess demand with the help of a schedule. Discuss its effect

on the equilibrium price.
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Answer the following :

(a)
(b)
(c)

Meaning and equation of budget line
Meaning and equation of budget set
Meaning of indifference map.

OR

If a consumer faces the Budget line equation :

20X +10Y =500

answer the following questions :

(1)  What will be the slope of budget line ?
(i) How many units would he be able to buy if the entire sum of I 500 is to be
spent on Good X only ? Show calculations .
(ii1)) Construct a new budget line equation if the price of Good Y falls by 50%. Also,
write the slope of the new budget line equation.
Qe -9
SECTION - B
TR I ToTEa I <ht aiewTsT e | 1

Define the revenue receipts of a government.

TrIfirens =1eT GLhR g T & IUR o hi TRl & | (T foehed gfo) 1
(a) oS YT

(b) TS o FTATET 3T PIAH

(c) ¥t STehTL <k YT

(d) o fafere yram

Primary deficit is borrowing requirements of government for making

(Choose the correct alternative)

(a)
(b)
(c)
(d)

Interest payments
Other than interest payments
All types of payments

Some specific payments

7 C1



15.

16.

17.

58/3

o1 | 1 AR g 2 1

What is meant by money ?

fopelt srdfegaeen i w1 3R 1 gEA EIA B | (& Tershe giw) 1
(a) FEE TS

(b) afUTfSae S

(c) (a) 3R (b) GHl

(d) TR

is the main source of money supply in an economy.
(Choose the correct alternative)
(a) Central bank
(b) Commercial banks
(c) Both (a) and (b)

(d) Government

e Tk FAFFTEN T C =500 + 0.9 Y 3T 1 =3 1,000 HI$

(S&T C = U9 =4, Y = TP 319, [ = Fram) 7 |

=1 =1 e i 3
(i)  HGeH W T UL 3T

(ii)  TerersT TUTes T W

If in an economy C =500 + 0.9 Y and [ =% 1,000 crores.

(Where C = Consumption expenditure, Y = National income, I = Investment)
Calculate the following :

(1) equilibrium level of income

(i1)) value of investment multiplier
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Explain the role of margin requirements in dealing with the problem of excess
demand.

OR

Explain the role of bank rate in dealing with the problem of deficient demand.

THITET fohe TR Tehel el IcdTg (GDP) % Heamol & g o &9 H “TR-wifgsh
fafm=” e Hmn g ¢

Explain how “non-monetary exchanges” are a limitation of the Gross Domestic
Product (GDP) as an indicator of welfare.

R Tk T “Sehl 1 S T HHITST |

YT
Teh TEATCHh IETEXVT b1 FETardT | HgT TUTeh shi ITshal HHETST |
Explain the “bankers’ bank” function of Central Bank.

OR

Explain the working of money multiplier with help of a numerical example.

RO ATd g FHTREd i ToTea =9 3R ISiTa =2 § afieha shifg -
(a) AT TEmar

(b) RO <! AT

(c) 3 B W

(d) Yt Fmior w =

Giving reasons, classify the following as Revenue expenditure and Capital expenditure :
(a) subsidies

(b) repayment of loans

(c) expenditure on collection of taxes

(d) expenditure on building a bridge
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FfeTiad o 3T T -

(a) I HET % I IR YeIgH o &1 3T Farsy | 2

(b) T T H TR oiFed 3T FHRISH 8q e o s 37 Sd18T | 39 37aX 1
TG R ? 4

e

HRUT ¢d U FaTsy fob Ffeiaa o1 Tam gge () =T @i 3R defimd @ § 3R

(@) ST (credit) 981 A1 W (debit) 987 H fhg TR €t fohar STrRAT 6

() w1 ST

(i) fergett & fraw

Answer the following :
(a) Distinguish between ‘devaluation’ and ‘depreciation’ of domestic currency.
(b) Distinguish between autonomous transactions and accommodating transactions
in the balance of payment. What is the significance of this distinction ?
OR
Giving reason explain how the following will be entered in (a) current account or
capital account and (b) on credit side or debit side of balance of payments :
(1)  Imports of machinery

(i1)) Investments from abroad

T ¢ BT T3¢ fob Feferfaa ahe @il € = et ? 6
(i) 3TrEd s=d Ygi TRRIHe T8 2l Fehd |

(i)  Eaia Sudm ygf 1 gew Tk & 3ifere B whar © |

(i) 37T ITHTT SFFT 1 Yo Teh & 3TFh &1 Hehell & |

Giving reason state whether the following statements are true or false :
(1)  Average propensity to save cannot be negative.
(i) Value of marginal propensity to consume can be greater than one.

(i11)) Average propensity to consume can be greater than one.
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(a)

(b)

“IrEfereh Hehot T 3T 1 TRUTT  |

(%) = fafy it (@) = fafer g SToR hma W Tehel TP ITE T UiEhe

i
(FE )
(i) | e w5 arferfies 100
(i) | fsft 3t 3uvm == 200
(iii) | feptram 20
(iv) | Gl AT UM = 50
(V) |@m™ 10
(vi) | =TSt 10
(vii) | ket TR goht frafor 60
(viii) | fraet smma 10
(ix) | o= il o1 3THM 20
(x) | Freet STIeE 30
(xi) | forgett & Feet R ST () 20
(xii) | &l | gfEdq 10
(xiii) | fufra 3 110

11
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(1)
(i)

Define “Real Gross Domestic Product.”

Calculate Gross National Product at market prices by (a) expenditure method

and (b) income method.

(in ¥ crores)

(1) Compensation of employees 100
(ii) | Private final consumption expenditure 200
(i11)) | Rent 20
(iv) | Government final consumption expenditure 50
(v) | Profits 10
(vi) | Interest 10
(vil) | Gross domestic Capital formation 60
(viii) | Net imports 10
(ix) | Consumption of fixed capital 20
(x) | Net Indirect Taxes 30
(xi) | Net factor income from abroad (-) 20
(xii) | Change in stocks 10
(xiii) | Mixed income 110
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